EXERCICIOS: Derive as sequintes funcdes:

1) y=(3x2% + 6x — 2)2. (x% + 1)3

2) f = (22

5

3) f(X) :ln(l+i2)

4) f(y) = y>.In(y?)

5) y = ln(sexn(x))
23x
6) y= 43x%-6x

) g(8) = eser'(®

8) y = . (2 + 3x)In@+3)

9) f(z) = 2.cos(2)?. sen3(22)
10) y = sen’(cos(tg(x")))

11) g(B) = B.cos* (/A%

12)

13)

14)

15)

16)

17)

18)

19)

20)

__ 3ssec?(y)
fO)=——

y = e?*,cos(3x)

__arcsen?(x)
(1-x2)?

f(t) = arc cos *(sen(t))
y = cotg*(2x — 3)?
f(8) = In(cos(6? — 1))

y = (sen(x).cotg(x))?* +
sen®(x)

y = \/(3 —x).Vx% — 10x

y= (T=5-x2) +1



